} " 1/ 1 1 I I I L
rJﬁEfiP‘Efj‘ﬂ‘[ifﬂ‘[%[iEfij‘Eﬁfjj‘ﬂijj‘ﬂrf‘
| | \‘\ \‘\ \‘\ \‘\ \‘\ \‘\ \‘\ \‘ | | | | \‘\ \‘\ I [ [ \

| [ [ [ [ [ I [ [ [ &1

1140 H I I I I 5145 I I I Il H 2160 I

2,20

i

i

10, ,

3.40

10,00

i

i

10, ,

3.40

10,, 30,

B 2,60 o e e y
1 x ft ft ft ft x ft ft ft x x ft ff ft ft ft if i ft x 1
10,30, 3.20 I I 10 4 Ut I I Jj4.20_y I I 20 1.20 12 I i jj—4.20) I i 10 U | 3.20 40 4 |
| \ Il Il Il Il I \ Il Il @ % Il I Il Il Il I Il Il \ |
| I I I I | Terasz I I I I Terasz | I I I I |
| i‘ I I \‘\ I \‘\ Kerémkﬁj lapb. | I ‘i i‘ I Il ‘rkerdmiq“ﬂqpb, \‘\ \‘\ \‘\ \‘\ ‘i |
\ | NT 19,18 2 | | | T:l9,l§h2 | |
| olo \ Il I dls I I I ol d I [ I I Lo [ I olb I I [ olo |
e I R | I A D/ S (N I o I Y N | |2 5
| il il = =y g e e e g =y e e = = S s et il A
A g S } IL J- { Iz TR >
| N X — — % . | 8
| 0,90 Tarold I
ot = 2,10 Kerdmia lapb. = v i
| Furdo / N i NT: 1,50 mZIO N li )\ Furdo |
\ Kerdmia lapb. g?g OPPG ! i GPPO ! 2178 Kerdmia lapb. | o
| NT: 7.04 m? / , Kerdmia lapb. Kerdmia lapb. : \ NT: 7.04 m? | g
— NT: 17,30 m? NT: 17,30 m? =
| Térolé |
| Kerdmia lapb 0,90 |
LA
2,10 .
| ° NL2dame 0 | Apartmanok:
| < - :{R:;F % . o | FOldszintE: 68,66 m?
17
| Q é . Q é | Foldszint D: 69,60 m?2
| I S | <.
| . | Emelet E: 69,56 m?
1L Szoba . L] Szoba . | Emelet D: 67,16 m?
1,2 Lo Keramia lapb. s Keramia lapb. o 1,20 .o
1,5D = NT: 10,86 m2 — L — NT: 10,86 m2 - 1,50 I Ossz: 274,98 m2
| | *Kozlekedo | \ | S
| = Kerdmia lapb. = «
CONT 17.04m2 | |
0.90 _ oA . 0.90 3
\ 2.10 q Etkezo . T - . Etkezd . 2.10 l S
‘ Kerdmia lapb. A - Kerdmia lapb. |
| o . NT: 9,32 m? . I : NT: 9,32 m2 - P |
| — = = |
[~ - iL
\ - I
olo ° - o|o | =
O|— S o —
‘ — | N B — | N I
| AT 1 & | i il |
= ’ b =
| i |
sz _ _ ElGtér
| 0.90 ElGtér 1 L 0.90 |
2,10 oo Keramia lapb. 2,10
| Keramia Ic;pb. / NT: 2,88 m2 |
= NT: 2, =
| Szob ” mo 90 0,90 Szob | 3 O
zoba , , zoba o
| Kerdamia lapb. Ko':‘yha 210 2,10 Kor,lthl Kerdmia lapb. |
NT: 10,86 m2 Keramia lapb. L | Keramia lapb. NT: 10,86 m?2 |
‘ NT: 7,38 m2 [ Iz NT: 7,38 m2 |
E dE
* ol Wl E4en '
| 213G |
90 0 90 90 90 90 |
- 1 - — T — 7 = - — -1 - < = 1 (5‘
‘ [ 1 I (0;(
_ L _ 4 . P _ L ST
| 213 3|3 we 33 gz We 3|3 213 -G
| | | Kerdmia lapb. ©|~ °© Kerdmia lapb. -~ | |
| NT: 1,52 m? NT: 1,52 m? |
| 10,,30, 3,20 10, , 2,50 10, , 1,60 25, 1,20 ,25, 1,60 10, , 2,50 10, , 3,20 .30, %—i M*ﬂt == X == == = 2 |
e i i = = i i LR I I I I I I I I
17.50 ! It I I I I I I I

|
e e et e e aite i it e i -

Kivagandd folbc
N le— 1 I I i I I
| I I I I I I I I I
I I I I ! I I

P p2 s y
\‘\ M M M \‘\ \‘\ \‘\

B e e e e e e e e e

e i
I s

O
|

rm
-
.
T
rl-
T
L




